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Addition of Three 3-digit Numbers
Example  Add 149, 271 and 300. |

Step 1: Add the ones. 9 ones + 1 oné = 10 ones = 1 ten + O ones,
HTO | Carry over 1 ten to the tens’ column and write O under

00 i ones’ column. |
149 | Step2: Add the tens. 4 tens + 7 tens + 1 ten (carry over)
T = 12 tens = 1 hundred + 2 tens
8 3 0.0 Carry over 1 hundred to the hundreds’ column anc
write 2 under tens’ column. ]
720 Step 3 : Add the hundreds. 1 hundred + 2 hundreds v
3 hundred + 1 hundred (carry over) = 7 hundreds ?

e R

Ans. 720

Wirite 7 under hundreds’ column.

Exercise
Add the following.
HTO ;, HTO HTO HTO , HTO
1 17 4 74 17
570 4 39 6 18 7 49 3 716
1 29 301 109 10 2 4 8
12 180 4 1= 980 +1 2 1 +1 40 uan 0 2
q 0 30 o 936
__u/__i_J ke _{ﬂgq 677
HTO HTO HTO HTO HTO
e RS 2 44 2
508 | 4629 14% 2 45 170
g4 7 199 709 259 259
+150 | +298 a9 +2 7 4 +2 90
BN b EE 5 v 790
:
HTO HTO HTO HTO HTO
< 14| 1 114
43 % 4 0 4 149 416 026
204 2 5 34 3 39 1 4 4 231_‘
+ 030 +125 + 371 .02 +46>,;
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